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1L 2ard—z<x<zlt» f(x)=|x

’ ?-#‘FFB .

Q) f(x)ehit = FoieB B % w2 (5%)

2 1i2+3i2+5i2+ =7 (5%)
3) 1i4+3i4+5i4+ =7 (5%)

2 ¢ 4 f(x):—(x+2) #RAFE (0,234 2EEBF ) > LD

BEREGKX) gz BREF(X):#F: 9g-D)~F(®6) F(-1)-~G(6) & G(-5)
2 1 o (15%)
3. ¢ drdndc f(X) =3sinx—4(1+sinx)cos’ x » FKHE4F A58 ehE = F sl o
(10%)

4, ¢ sk f(X)= R R

1) f(x) = EH A (10%)

= 1
24 21
@ #+% [

> cos”—zwda) Z_ i > (5%)

5 ¢ seadk f(X)=e & g)=HX+)-HX-1) 27 H(X) % ¥ =% 1 &

. B 1, x=0
gt’ﬂi%&ﬁ"'(x)_{o, x <0
(1) #F&: f(x) 2 'ﬂ—ﬁﬁ*ﬁ' F(w)=? (5%)
(2) #&: g(x) 2B EH#H Gw)=? (5%)
@) @ [ sin’ “’dw:? (5%)

(4) »~q(x) = f(x)*g(x) c#E L a(x) =7 (5%)
(hint: & x<-1, -1<x<1, 1<x ##%)
() Q@) =Fla(x)]=? (5%)

6. (1) & & f(X)=0(x) » R Sk &> FHE F(o)=? 5%)
(2) sfcg(x)=e™ -H(X) 2 a>0 > F R o2 & 2 F{ G(o)=? (5%)
(3) M-yt A ﬂ$+ 2u(x) = 5(x) £ = EfHE L RNU(0)=2 (5%)

@) #F u(x)=7T"U(a)]=" (5%)
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f()=a,+ (a, cos 2™ 1 b, sin 207

n=1 T T
a —ij; f(x)dx, a —Ej; f(x)coszn—ﬂxdx b _EIE f(x)sinzn—”xdx
CoT) T T " T T

T ©
% > # sdk2 Parseval 2% 3¢ : %J'ZT f?(x)dx=a; +%Z(a§ +b?)
) n=1

EEHRAS
f(x) = jo“’ [A(®) cos @ X + B(w)sin @ x]dw
1 s} 1 © .
A A(w)=—.[ f (x)coswxdx, B(w)=—.[ f (X)sin @ x dx
Ty Ty
&2 E AT R R
2nrz

0 . I -
L R I
n=1 )

®EEE L F)= FIF]1= ] f(x)e™" dx
G EFEE ()= FUF@I=- | F)e” do
2 I
% * ¥ # # < Parseval % 5% : J'w |f(x)|2dxzij‘°° |F(a))|2da)
o 27—

Convolution: f g =I: f(t—-72)g(r)dr
FIf'O]l=iwF(0) = FI O ®)]=(i0)" F(o)

FIE"f®1=i" dda?” F(o) = FIT” (0]=(i0)" F(o)

[TH080-x)de=F(x;) ¢ a<x,<b
. | 1 iX —ix
LA, cosx=5(e +e™)

H 1 ix _ 4-ix
smx_E(e e™)
i M L S

sina cos B = %[sin(a + B) +sin(a — B)]

COSa COS ff = %[cos(a + ) +cos(a — B)], sinasinf = %[cos(a — ) —cos(a + p)]
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